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2 M#EHK =1, d'=am L. 1HNHSETE,
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35, HEBHTHEAERMI 830/, 2R HEFTZBHRES
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W R = SRERMESZIL?
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45.

46.

241 log, [logs (log,x)]1=0, P4 z WERE
(A) 1 (B) 4 (C) 643 (D) 4,7
MmE |z—3yl+(2y—1)2=0, & log, y* WER

w3 ® =3 ©o

(D) U EZ#B#AR.
THRFH, EHKE

(A) log. (z—y)=log., *—log, ys
(B) -i-g—g:—%=logax—loga us

log, z

(C) o
loga y y
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mEM.N ERES, BM>0, I AXHEAEBNER
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(D) REEmaE.
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. Flga=—0.2034, WX ER. BHIHH

(A) 0, —0.2034; (B) =1, 0.2034;

(C) 0, 0.79665 (D) =1, 0.7966,
BH--MEHHHANBKER 0, RENb, KA
A IEHC ) I BB P XS 3Ry

(A) BHA —a, BEN —bs
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(C) B¥chy, RENE)

(D) B¥ N —a—1, B¥ N 1-b,

lex MIEE N3, lge RS 1g 538 # BREMR, M4
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(1) log @e,p(222+2)=1;
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(4)V'loga"i'/]\_l=%log., M.
AW T AR RTHE?

(1) (logy5) 7l 2 log,5s

(2) logs 2-logs 7 Fl logs (2X7)y
(3) logi =* 1 4 logy, 3

0a) —logy 7 F Togaas, |
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B e =8, iR o RRUTHEBIXTHs
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